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Q.1

In the following question, select the missing number from the given series.

2016, 972, 324, 2, 36, 12
Ans 1108

X2 119

X3 117

X 4120

Q.2 Select the option that is related to the fifth number-letter cluster in the same way as the fourth number-letter cluster is
related to the third number-letter cluster, and the second number-letter cluster is related to the first number-letter cluster.
COMPLETE : COTEMPLE :: POSITION : POONSITI :: TROPICAL : ?

Ans X' 1. TRALOPCI
X 2. TRLAOPIC
X 3. TRAIPOIC
« 4 TRALOPIC

Q.3 Three Statements are given followed by two conclusions numbered I and II. Assuming the statements to be true, even if
they seem to be at variance with commonly known facts. decide which of the conclusions logically follow(s) from the
statements.

Statement I: No mountains is deserts.
Statement II: Some deserts are sandy places,
Statement III: Some sandy places are not mountains.

Conclusion I: Some deserts are not mountains.
Conclusion II: Some sandy places are mountains,

Ans X 1. Neither conclusion I nor II follows

X 2. Only conclusion 1T follows

# 3. Both conclusions I and II follow

« 4. Only conclusion I follows

Q4 1In a certain code language, ‘KEPT" is coded as *52°, ‘LACK is coded as *27°. What is the code for ‘LINE’ in that code
language?

Ans X142
X 2. 50
X 3. 41
&4 40



Dell
Stamp


Q.5

By interchanging the given two signs which of the following equation will be correct?

+and *
Ans X 1. 9x3+8+4-7=30
X2 11+12%x6+8-10=25
3 23-20+35+2x10=10
K4 32+3-12+18x9=10
Q.6 If a mirror is placed on the line AB. then out of the option figures which figure will be the right image of the question
figure?
A
B
Ans

o U DE
=




Q7 Which answer figure will complete the pattern in the question figure? (rotation is not allowed)

OO

oA ?
AN

Ans

g
.2 <\
v
P

)
O
S)
=

| 1
X a. 0




Q.8

Ans

Select the figure that will replace the question mark (?) in the following figure series.

|l W -

< 3.

il
1l
1l

|

gl

Q.9

Ans

Which of the following groups of letters when sequentially placed from left to right will complete the given series?

mnopmnop_nop_nopm_o_
X 1. oonp

« 2. mmnp

X 3. nnop

X 4. mnmn

Q.10

Ans

In the following question, select the related letter pair from the given
alternatives.

RIDY : SMEZ :: ?

X< 1. RUCP: KMOA
« 2. CPSF : DQTG
# 3. ODAF : GKLN
X 4 PORU: ZZOU




Q.11

Select the figure that will replace the question mark (?) in the following figure series.

Ans
o——-0
v O &
A
A
o——-0
xo2 | O—0O
o—oO
>
Oo0——=0
< 3. O O
o——-o0
«——0
o——-—=0
X4 O O
-~
o0——-0
Q12 A series is given with one term missing. Select the correct alternative from the given ones that
will complete the series.
MR, VA, EJ, NS, ?
Ans w1 WB
<2 PR
X3 WX
X 4 NQ
Q13 Pointing towards a photo of a girl. Rakhi said. “She is daughter of my husband’s wife”. How is the girl related to Rakhi?
Ans «" 1. Daughter

< 2. Sister
25 3. Mother
#< 4. Father's mother




Q.14

Ans

From the given option figures, select the one in which the question figure is hidden/embedded. (rotation is not allowed)

7

SN2

3

J
KR

Q.15

Ans

Six houses Blue, Green, Red, Yellow, Orange. and Purple are arranged in a circle facing towards the center. The Blue
house is second to the right of the Green house and opposite to the Orange house. The Yellow house is exactly between
the Red and Orange houses. The Purple house is opposite to the Yellow house. Which house is to the immediate right of
the Blue house?

+ 1. Red

X 2. Purple
X 3. Yellow
X 4. Green

Q.16

Ans

In a certain code language, *“TOWARD is coded as *962147°, “WANTED" is coded as “213957". What can be the code
for “WARRANT’ in that code language?

X 1. 2133129
< 22144129
<3 2145129
4 2144139

Q.17

Ans

Five persons Anuj, Bheem, Chetan, Dheer and Inwan are sitting around a circular table facing towards the centre (not
necessarily in the same order). Only one person is sitting between Chetan and Dheer. Bheem is sitting second to the left
of Dheer. Anuj is sitting to the immediate right of Bheem. Who is sitting to the immediate right of Chetan?

X 1. Anuj
+ 2. Bheem
Z 3. Imran
X 4. Dheer




Q18 1p the following question, select the missing number from the given series.

75, 77, 81, 89, 105, ?
Ans X 1. 144

2 137

X 3. 130

X 4140

Q19 Arrange the given words in alphabetical order:

1. MISSION
2. MISSED
3. MISSING
4. MIST
5. MIGHT

Ans  X'1.5,1,3,4,2
X2 54,321
X3 54,3, 1,2
#4523, 1.4

Q20 1f50%*60#45@ 5 =128 and 63 *50#48 @ 12=117. then 79 * 30 # 120 @ 20 =?
Ans X1 118

<2 129
<3120
o 4 115
Q1 The Eighth five year plan was finally launched in after the initiation of structural adjustment policies.
Ans 1. 1992
/< 2. 1989
X 31991
#< 41990
Q2 1 a capitalist society the goods produced are distributed among people
Ans

X 1. only on the basis of what people need
X 2. on the basis of what people need and on the basis of Purchasing Power

X 3. not on the basis of Purchasing Power

« 4. not on the basis of what people need but on the basis of Purchasing Power




Q.3

Ans

India became the winner of the Cricket World Cup for the first time in:

« 1. 1983
X 2. 1981
X 3. 1999
X 4. 1975

Q.4

Ans

A typical freestyle wrestling bout, is divided into periods of three minutes each with a 30-second break in

between.
<1 4
X235
3 2
X4 3

Q.5

Ans

Which of the following articles of the Indian Constitution deals with the Indian Parliament?
X 1.40-70

X 2. 12-40

¥ 3 79-122

X4 1-12

Q.6

Ans

Megasthenes wrote about Pataliputra, saying that it is a large and beautiful city that is surrounded by a massive wall. It
has 570 towers and gates.

X 1. 74
X2 54
X3 44
74 64

Q.7

Ans

Read the following about Commercial Banks in India.

A. Commercial banks are the other type of institutions which are a part of the money-creating system of the economy.
B. They accept deposits from the public and lend out part of these funds to those who want to borrow.

Identify the INCORRECT statement/statements.

« 1. Neither Anor B
X< 2. Only A

< 3. Both A and B

X 4. Only B

Q.8

Ans

Which of the following statement is correct regarding rate of diffusion of liquids?
I. Rate of diffusion of liquids is higher than that of solids.

II. This is due to the fact that in the liquid state, particles move freely and have greater space between each other as
compared to particles in the solid state.

& 1. Neither I nor II
X2 OnlyI

X 3. Only II
« 4 BothIand II




Q.9

Ans

Which of the following articles of Indian Constitution is related to the Fundamental Duties?

2 1. Article 300A
« 2 Article 51A
X 3. Article 50

< 4 Article 49

Q.10

Ans

In October 2022, Justice has been appointed as the presiding officer of the Unlawful Activities (Prevention)
tribunal by the government of India.

+ 1. Dinesh Kumar
X 2. Krishna Khanna
X 3. Ashok Bhushan
X 4. Sanjay Kaul

Q.11

Ans

Which of the following dances is performed by women on various occasions to the beating of a drum in Madhya
Pradesh?

« 1. Matki dance
X 2. Mundari

X 3. Rouf

/< 4. Bhagoria

Q.12

Ans

is a state or condition in which an individual or community lacks the financial resources and essentials for a
minimum standard of living.

X 1. Unemployment
« 2. Poverty

< 3. Unethical
X 4. Illiteracy

Q.13

Ans

Who coined the term 'Evergreen Revolution' to increase agriculture production in India?
A 1. Mahatma Gandhi

X 2. Ram Manohar Lohiya

X 3. R.V.Rao

« 4. NLS.Swaminathan

Q.14

Ans

In which vear was the first edition of the Indian Premier ILeague (IPL) cricket tournament held?
X 1. 2015
X 22003
« 3. 2008
< 42018




Q15 Who among the following was associated with the Young Bengal Movement?

Ans 1 Henry Derozio
X 2. Henry Thomas Colebrooke

# 3. Charles Wood
X 4. William Jones

Q.16 In May 2023, Praveen Sood, the Director General of Police in Karnataka, has been appointed as the next director of the

Ans X 1. World Bank
« 2. Central Bureau of Investigation (CBI)
X 3. CRPF
X 4. FBI

Q17 Given among the options,  is a state/UT with highest literacy rate(census 2011).
Ans X 1. Goa

X 2. Rajasthan

< 3. Bihar

« 4. Lakshadweep

Q18 Which of the following state’s government launches Bhagwan Birsa Munda Jodaraste Scheme to Connect Tribal
Villages with Main Roads?

Ans X 1. Haryana
X 2. Bihar
+ 3. Maharashtra
X 4. West Bengal

Q19 1n which of the following states is the Hornbill festival celebrated?

Ans 1. Nagaland
X 2. Manipur
X 3. Assam

< 4. Mizoram

Q20 yWho of the following is famous for playing musical instrument Kanjira?
Ans X 1. Kishan Maharaj

& 2. Pannalal Ghosh
+ 3. Pudukkotal Dakshinamurthi Pillai
X 4. S.V. Rajarao

Section : Part-C-Elementary Mathematics




Q1

Ans

What is the Least Common Multiple of 2%%33 27 32 and 27 % 399
X1 25

&2 23 % 36

X3 92330

54 25X35

Q.2

Ans

Suresh sells a car at the loss of 36 percent. What will be the ratio of cost price to selling price?
X1 16:25

X2 15:16

W3 25:16

X4 4:5

Q.3

Ans

Town A had a population of 62500 in 2022, After one vear the population of Town A increased to 75000, What is the
percentage increase in the population?

X< 1. 30%
X2 25%
X3 15%
« 4 20%

Q.4

Ans

Find the sum required to earn a monthly interest of 2 350 at 7% per annum at simple interest.
X 1. 7 50,000
« 2. % 60,000
X 3. 265,000
X 4.3 55,000

Q.5

Ans

4 bells ring at intervals of 6, 8, 9 and 10 seconds. All the bells ring at the same time. After how many minutes will they

ring together again?
X 1. 15 min
X 2. 10 min
X 3. 8 min

W 4 6 min

Q.6

Ans

The population of a certain city increases by 5% in the first year and by another 8% in the second year. What is the
overall percentage increase in the population?

< 1. 18.3%
X2 152%
X 3. 13.0%
4 13.4%




Q7

Ans

Two cars start from the same point and travel in opposite directions. If one car travels at 40 km/h and the other at 50
kmv'h, after 5 hours, how far apart are they?

¢ 1. 450 km
X 2. 480 km
X3 410 km
X 4. 460 km

Q.8

Ans

The difference between the compound interest (compounding half yearly) for | year and the simple interest for 1 year
on a certain sum lent out at the annual rate of 30 percent is Rs. 337.5. What is the sum?

« 1. Rs. 15000
X 2. Rs. 18500
X 3. Rs. 17000
X 4. Rs. 17700

Q.9

Ans

Z1, 72 and Z3 can do a work in 100, 50 and 75 days respectively. All three of them began the work together but Z2 left
15 days before the completion of the work. In how many days was the work completed?

« 1. 30 days
X 2. 45 days
X 3. 35 days
X 4. 40 days

Q.10

Ans

The marked price of an article is Rs. 640. If discount of 37.5 percent is given, then what will be the selling price of the
article?

#< 1. Rs. 600

2 2. Rs. 450

« 3. Rs. 400

X< 4. Rs. 550

Q.11

Ans

What is the remainder when 582 is divided by 57
X117
2 3
X3 2
X4 4

Q.12

Ans

The diameter of a hemisphere is 21 cm. What is the total surface area of the hemisphere?

Z 1 1238.5 cm?
X 27905 cm?
X3 980.5 cm?
¥ 4 1039.5 cm?




Q.13

Ans

If AM = 5N = 20C, then what is the value of M : N : C?
X1.5:4:3
2. 5:4:1
X3 7:5:4
X40:3:1

Q.14

Ans

Average of five numbers is 36. The average of first two numbers is 1.5 times of the average of last three numbers. What
is the sum of first two numbers?

< 1. 85
<2 79
X3 78
« 4 90

Q.15

Ans

The difference between cost price and selling price is Rs. 132. If profit percentage is 20 percent, then what is the selling
price?

X 1. Rs. 760
X 2. Rs. 822
X 3. Rs. 802
4 Rs. 792

Q.16

Ans

Aman can do a work in 28 days. What part of the total work can be done by Aman in 8 days?
X 1.3/8
X2 4/7
v 3 2/7
x4 3/7

Q17

Ans

A toy originally costs S25, but it's on sale with a 30% discount. What is the sale price?
X 1.514.6
¥ 2 §17.5
X3 .319.3
X4 $13.8

Q.18

Ans

What is the value of +/0.000081?
X109

+ 2..0.009

2 3.0.09

X499

Q.19

Ans

If Rs.70.000 is distributed among A, B, and C such that A:B = 2:3 and B:C = 4:5, then find the share of A.
X 1. Rs. 18,500

X 2. Rs. 14,500

< 3. Rs. 15,800

« 4. Rs. 16,000




Q20 yWhat is the average of first 31 odd numbers?
ans X137

X2 33

3 31

X4 32
Q.1

Choose the word that means the same as the given word.

Measure
Ans

X 1. Diagnose
« 2. Gauge
X 3. Propel

X 4. Deviation

Q2 Choose the word that is opposite in meaning to the given word.

Noticeable
Ans X 1. Hail

X 2. Taunt

X 3. Dignified

+ 4 Hidden

Q3 Find the part of the given sentence that has an error in it. If there is no error, choose “No error’.

She cracked the most funniest joke at the party.

Ans

X 1. joke at the party
X 2. No error
# 3. She cracked

« 4. the most funniest

Q4 Select the most appropriate meaning of the given idiom.

Mince Words
Ans X 1. Almost failing

X 2. To find a way to deal with something.
« 3. To speak vaguely or indirectly.

X 4. Work not done for money.




Q.5

Ans

Choose the most appropriate antonym of the underlined word.

Before preservationists could put a stop to it, he and other looters had raided and destroyed precious relics buried at the
site.

X 1. Important
X 2. Pet

X 3. Dear

+ 4. Defective

Q.6

Ans

Choose the word that is opposite in meaning to the given word.

Spat

X 1. Persuade
X 2. Beguile
3. Agree
X 4. Nitpick

Q.7

Ans

Improve the underlined part of the sentence. Choose “No improvement” as an answer if the sentence is grammatically
correct.

The subway fare is go up next week.

« 1. fare is going
X 2. fare has been going
X 3. fare has going

X 4. No improvement

Q.8

Ans

Select the sentence with no spelling errors.

X 1. The sick woman had raised herself upright, and was stretching her arms tuwards them.
X 2. The sick woman had raised herself uprite, and was stretching her arms towards them.
+ 3. The sick woman had raised herself upright. and was stretching her arms towards them.

X 4. The sick woman had raised herself upright, and was streching her arms towards them.

Q.9

Ans

Find the part of the given sentence that has an error in it. If there is no error, choose *No error’.

Employees are working from home and shoppers are ordering groceries online to minimize time in crowded spaces.
« 1. No error

X 2. Employees are working from home and
X 3. shoppers are ordering groceries online

X 4. to minimise time in crowded spaces.




Q.10

Ans

Replace the bracketed word with one of the given options, which suitably replaces the word without changing the
meaning of the sentence:

The mountaineers embarked on (an arduous) journey to conquer the formidable peak, facing treacherous terrain,
extreme weather conditions, and physical exhaustion along the way:.

# 1. an important
« 2. ataxing

X 3. arewarding
X 4. asevere

Q.11

Ans

Select the most appropriate word to fill in the blank.

! You can do it - it's as easy as pie.
# 1. Hush
X 2. Wow
« 3. Buckup

X 4. 0Oh

Q.12

Ans

In the following question. out of the given four alternatives, select the alternative which best expresses the meaning of
the Idiom/Phrase.
To raise the wind

< 1. To teach mannerism
« 2. To obtain the necessary funds

/< 3. To head an army

X 4. To release one’s frustration

Q.13

Ans

Select the incorrectly spelt word from the given sentence.

The cats have the propensity to divour their babies if alarmed and so require a calm environment for breeding.

X 1. environment
2. divour

# 3. alarmed

X 4. propensity

Q.14

Ans

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence
meaningfully. Select the option 'no correction required’ if the sentence is correct as given.

She (doesn't want to go on staring but it) was very difficult to turn her eyes away.
X 1. does wants to go on staring

« 2. didn't want to go on staring but it

X 3. do not wanted to go on staring but it

X 4. No correction required




Q.15

Find the part of the given sentence that has an error in it. If there is no error, choose *No error’.
Dr. Stone returned to the UK at January 2001 to begin data analysis.
Ans X' 1. No error

X 2. to begin data analysis.

« 3. the UK at January 2001

X 4. Dr. Stone returned to

Comprehension:
Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

Photographs and videos showing people bursting firecrackers on the (1) of Kedarnath temple are making the

(2) on social media. The video clip showed loud bangs of firecrackers, lights and clouds of (3)
the echo of the ringing temple bells, raising (4)

glacier region.

along with
over the effect of such crackers in the geologically (5)

SubQuestion No : 16

Q16 Select the most appropriate option for blank(1)

# 1. establishment
X 2. plot

Ans

X 3. layout

« 4. premises

Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

Photographs and videos showing people bursting firecrackers on the (1) of Kedarnath temple are making the

(2) on social media. The video clip showed loud bangs of firecrackers, lights and clouds of (3)
the echo of the ringing temple bells, raising (4)

glacier region.

along with
over the effect of such crackers in the geologically (5)

SubQuestion No : 17

Q17 Select the most appropriate option for blank(2)

Ans X 1. light
X 2. Park

X 3. circle

" 4. rounds




Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

Photographs and videos showing people bursting firecrackers on the (1) of Kedarnath temple are making the
(2) on social media. The video clip showed loud bangs of firecrackers, lights and clouds of (3) along with

the echo of the ringing temple bells, raising (4) over the effect of such crackers in the geologically (5)
glacier region.

SubQuestion No : 18
Select the most appropriate option for blank(3)
Ans 1. smoke

< 2. air

< 3. water

< 4 fire

Q.18

Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

Photographs and videos showing people bursting firecrackers on the (1) of Kedarnath temple are making the
(2) on social media. The video clip showed loud bangs of firecrackers, lights and clouds of (3) along with

the echo of the ringing temple bells, raising (4) over the effect of such crackers in the geologically (5)
glacier region.

SubQuestion No : 19

Select the most appropriate option for blank(4)
Ans 2 1. subject

Q.19

#5 2. amazement
¥ 3. alarm

/5 4. anxiety

Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

Photographs and videos showing people bursting firecrackers on the (1) of Kedarnath temple are making the
(2) on social media. The video clip showed loud bangs of firecrackers, lights and clouds of (3) along with

the echo of the ringing temple bells, raising (4) over the effect of such crackers in the geologically (35)
glacier region.

SubQuestion No : 20

Q20 gelect the most appropriate option for blank(5)

Ans 1. sepsitive

X 2. appeasing
X 3. lofty

X 4. rigorous

Section : Part-D-Hindi




Q1

Ans

fPafofa go #, 98 Reedt § ¥, 38 RFFey &1 909a w3 Rea we & v 7@ goee & amer
e &
ZH =gl & | @r=T =nfEe)

X1 fHeE
X 2. oTEHT
3 o

X 4 Ty

Q.2

Ans

=TT T &, o) Reeal # ¥, 37 T &Fe9 &1 990 F{ A gl F @U tF o6 #
e 2l
HIT Aded TTee JTer

v 1 gt
X 2. IUgY

X 3. SIS
X 4 ot

Q.3

Ans

v =17 am@ & a7 9T A9 &, wE w1 R 71 3w g A6 7 A w3 a9 g
F O =T gge ¥ RfRET ww w@r o
x1.oHs e A E

X2 gger O @fFaa
X3 & TET oT|

v 4 H TET G

Q.4

Ans

faw g fabeat # 9 i fadbed Y -l arel €, Siafd T Y acHl arell 81 39 3% I+l arel fased o1
g D

X1 ZHY 3T ol didy 87
X2 AR GY § Il 99 YHI ¢
X3 BIq Bel T%?

v SRS S §1d Hd BRI |

Q.5

Ans

FafRad vy o, IR fadedl § ¥, 39 [dhed &1 9 &2 ol 41 s dldblidd &l Jel 31 ardl fddhed g
Re T T R $ i 37 fpea &

X 1. Sl o] B 3 SIU del sl

X2 ¢ gl Y F31 g1 8

X . fOdr 9 gL SR O3 © @I

v TH A UH o o fe o g1 o §




Q.6

Ans

feT =0 I & 3T THEREEr e w1 TEs w1 e e @ 9| F
ot wEe B e F . (emeherd) ¥

X fiRige

X 2. gRUT

v e

K4.@,|1ﬂﬂ

Q7

Ans

f&U 71T g1 H Iferd uaiaarE Wee 1 99+ S Rad R &I gfd H1|

QUG BT (HUST) ST HT THI H gt |
X1 quig
qf’Z.ﬂ:IQ'

xs.l;FUT
X4 3d

Q.8

Ans

3T 77U a1ey ¥ Y@iferd Weg Pl [GAH Xsg F1d I

HR BId 81 99 33 T
X1 MBI

X 2. @_ﬁ’

3. @ﬁ'?_g

X 4 U

Q.9

Ans

Frafeiad vy #, [GT U AR el # 9, 39 fdebey &1 9a4 1 ol [ U HeTaR & 3 Pl Ya98 T 9 e
FRAT S|

gIHl 1 a8 S8l

XK1 81 gR BTl

v 2. SfTee G Al
X3 A T 8T
X4 R Sl gl




Q.10

Ans

=T 997 &7, 91X Fear § ¥, 35 TaT 95T F 9097 FT FT I F &0 0F aeg #1 TFeT
aal
e &dr g Fr ot J@r ar

71 AT
72 Ay
X 3. AR
v 4 ferae

Q.11

Ans

frrafafee aeg 7, 39 aeary & 9ganfae S At @ defta syfeer g i #15 o 78 2
o e g 7E 8w g Hie
St HIEHT EL & SE H HIGY FIAT AG AT 3T gL H o FErEan F AR TG Fer gl

X T 3T AGT AT AR

X 2. S EHT T F TET H IR

v 3 FHEAT T A FHH G H o TS
xa g e A E

Q.12

Ans

[&T 71U g H I SRIo1-[E=IST Xeq &1 T8+ b R R &1 gfd i |
FASH P HUh R

1 giRIRH

X2 8|

X3 gRIg
4 3qldd

Q.13

Ans

oA 99 H, 97 TFeat # ¥, 3H Tel [dheT FI II F{ AT AR & (o7 TH Aqeg F e
Gl
far @ o9 7=

# AT
X2 s
« 3. AIIEHEIS
X a4 HAERYEd

Y

Q.14

Ans

faT Joa A, 91 Reedt # ¥, 35 RBFeT &7 0T F{ o 35as H BT 70T o6 & Jof@F & &l
e AFeT &

ﬁ%m#mﬁrwagr—rﬁrga?(a@‘) a‘ﬁrgé

el

X 1. greEs

X2 gF

X3 °e

v 4 gfear




Q.15

Ans

feT 717 e &1 BeHE ereg A9 ST

=i

N ar|

X 2. FeRTar
X 3. IS
X 4. ofrgerar

Q.16

Ans

Comprehension:
i 3T 8 e H $© Wea Bt 88 Y €, Ud® effwsa & 9iHH IR fddbey [GY 1T § | 59 TR & eHyds Ug
R 9R fd@edl H U 9k IR arar fddbed 9|

e ¥ SR BIS aidd Tl el 8| TSI RRT iR SoF e 81 e 79w & fdaa o
FHRIED YRacd ardl o | R aafd _ &9a1 ¢ *IR URAR & {6 AR &R Gahell ¢ | TSHI 3R dSH! U
&R & | U PIg <o 181 Sl wrsfobal 8T b2 Gahcll §1 g oivlel 2R &A1 H agichdl | asadh! &I qorl # U
AUS_ ifad fohar g1 <=1 bt el Iafa & g e wed! &l Riférd S oaxa s § , a1 asfd &
e BH1 ol 81 3R Ugd Ual U gl aisidhal &l T 31l Giaut SiR GeawR fGU old , dl dsd! &l avg , 8%
U% Aol 3Tl R gl | dsfhal sneisd Rifad 8l E 3| dsfPui Fs Ubd U Was R AH S Ay
BT TR TE1 ¢ | BB AfGA SHRRI H T R el ¢ AR IR Hi THIN T | dSihal d Ied UgH B g Sl
R TEA §| DS URGR ASHI &l $d $I 4lUdh GHgd g, WRER bl ol dsfddl 4 Wi giell 2

SubQuestion No : 16

e 7 I FRIf iR ISR
v

X2 3y

X 3 affRTfEd gl

X4 3T




Comprehension:

=i U T T § 9 Wek 31 3 U, TS offwe & U 9R [ddhed faU U 7| 59 T $ AHgd s Ue
AR TR fadedl o Y Halad IR aral fadbed 91

R ¥ SR Dy ardhd el il o | R I8 &I [RAR[G iR _ suF §dl g1 Rig 59 & Hfdia o
HHRIFTD UREcH @l ¢ | A aafdd _ s9a1 8 3R IRER & 7 AR &R Tl 3| TSl 3R Aol Uh
SRIER S| Ul DIy il 7T off dsidal g1 B Habell § 1 By oilel 3R & H aisidhdl 7 Tgdl o ol H U
B wifed fdban g1 4= &1 wvgul I & [ foram dredl &1 RIféd gF1 oawad ¢ , Ia-1 asidal &
fifard g SRedt 81 o R Ued Il § €l arsfdal @i +ff 3ai Gfauns ofk GorgmR QU o, @ dsa! & g, &%
U sl Ao Rférd gidt | wrsfdai aisiha fRiiéd 81 3 &1 defbul $Iha uq Was AR WH & 91y
S R ] ¢ | DB Algad SRl H HH R @l ¢ AR =R THTa B § | dsiHal ¥ 3 Ug &1 8P S
IR WA ¢ S URAR ASHI I Ha ST UG YHIAA S, R IR BT Al Isidal I+ gikell B

SubQuestion No : 17

W e st ST & 2R URaR & T AR R gl 2|
Ans x 1. T" ﬁ ﬁ
X 2. Ueld

v RmTER
X4 g3l

Comprehension:

i fau M TR 1§ 8 Wes Sls fod MU §, Ul Aw@a & 9 9R faded fAU U ¥ 1 59 TR &l eiHyds ug
AR TR fadedl o Y Halad IR drdl fddbed 9|

fRI&1T ¥ §gah DIy didbd ol gidl ¢ | &1 7% &I Rigd ok S8F oKl g1 el 7% & Afdkea |
YHRIA® Racd ardl g | Riga @ &9a1 § 3R GRAR & (AT AR &R Gbdl g | dedl AR dodl b
IR ¢ | U Plg i TaT Sl arsfobal el H2 Fobcll &1 Bg oivTel 3R &3l H dsidhdl 5 TSl &l gal # 3(u=
OBl wifed faran 1 <=1 Bl Ul IAfd & e (oo dal &l RIfEd gF1 a=de & , 3a-1 ds il &l
fRIfEd BT oRe4t B 1 SR TR Tl U B wsfdal i ot S+l Giaemy iR GawR fRU o, df I8a! 3 e, &)
U dsd! 3Tl R gl dsfhal seisd R g d | dsfpui s Yba e Ras IR AH S AY
S IR Ia] ¢ DB Alead HRI H S $R 6l ¢ AR @R U TUTd B § | dsiHdl ¥ 36 Ug &1 8F S
TR T g1 P URAR USHI Bl $d &I SiUh GHId §, R R BI_____ dl dsfbal g i gidl 31

SubQuestion No : 18
Q.18 3 el 3R & ® asfal 7 asH! B T | U D! arfad fran 31

ans Fed
x> YR
X3 AoleR
x4 qﬁ‘q:uf




Q.19

Ans

Q.20

Ans

Comprehension:
=T U T T ° 5 Wex BIS 38 U E, Ui offwsa & I OR e AU Y § 1 59 T i eAyds Ue
AR TR fadedl o Y Halad IR aral fadbed 91

R ¥ SR Dy ardhd ol il o | RIeT I8 &I AR iR suF Kl g1 Rig 59 & Hfdia o
AHRIFD URGcH @l ¢ | RIfa aafdd _ s¥a1 8 3R IRER & o AR R Fobdll 3| TSI 3R A5l U
IR &1 0 IS i 781 off asfdal T8l B2 Gl 31 s onTel 3R & H asfhal 3 asH! 3 gar | ogH
Al ifed faar g1 <=1 &1 Ul IAfd & (o foraT doal &l RIféd gH1 axae & , Ia-1 dsiddl &l
18T ST SRel €1 3R Ued Il U &l arsidal &l 2 Ia1 GauTd ofR o QU o, @ 9Sd! & ag, 8%
U sl 3Tl FRifdd gidh| dsfdbal s Riféd g1 W &1 dsfbdi s qha e e AR WH & 9y
S R ] ¢ DB Algad HRI H S $R 6l § AR =R TH1a B § | dsieal ¥ 3 Ug &1 8P S
WRIR T 8| P& URAR USH! Bl $U DI UG GHed 6, WRR S ol asiedl 9 Hi gkl g1

SubQuestion No : 19

dsfedl S 9hd Ug Wae 3R T & 1Y HTH B Ll T
> 1. gﬁ
v 2. fTAIY

X5 QT Y
X4 hMH

Comprehension:
i o T TR W 5% Wes BiS 38U T §, U eijwia & U IR s AU U § 1 59 i & AHydd Ug
AR AR fqdedl H Y Halo IR aral f[ddbed g1

R ¥ SR Dy ardbd ol il o | RIET I8 &I R iR suF §rdl g1 Rig 59 & Hfdia o
FHRIED YRdad ardl o | RId=afdd_ §9a1 ¢ 2R URER & [0 ASHTR &R Gahdl g | ASHI 3R ASH! U
SRR | Ul BIS I 5T Sl dsfdbal gl bR Gebell g1 bs oiiTgl MR & H deidhal § @Sl &l ga J U
GBI wiied fda1 g1 4= &1 egul Iafa & [ fSra drsdl &1 fRIféd gHT oads ¢ , Ia-1 asidal &
AT BT ORe] 81 SR Ugel Wal 3 ol @isihdl bl Hit I+t GiauNd ok gorawR U oild, df a5l &l aig, &
U TSl 3Tl T Bicdl | Trsibal amoise RiA g W e TSP FEAPa e WIS SRWHS Y
&H IR 5] &1 HEGI Alge SRR H HH T @1 8 R @R H THTe B | asisdl 8 3d Ug &1 8d S
TR T § | P URAR USH! Bl $U DI SIS GHGd §, RIS _____ dl usisal 4 i gidl g

SubQuestion No : 20

36 URAR ASHI DI H B G1Ub A 8, IR TR DI il efdal I i gl g |
X Py
< 2. gL
X3 HARG
X+ fearet






